£ EPSON TM JIENEFHTERETE

A ZEBTREAHREERE

T70I1 BUENfi#ffrEE K5 203 DPI

203DPI = 203 dots per inch

1 dot EfE =25.4mm/203=0.125 mm

B REMRERYE 9om, FTPAZERE HERER AT

PRI I D) A B B EN S AR E I BEEESE £ 1.5cm (T7010) = 15mm

Bt DA H B2 E page mode & =7.5cm =75mm EIH] (7.5cm + 1.5 cm = 9cm)
EPSON T70II ®J%IEIEE & 5.2cm = 52mm

{FHESHESEIT

ESCL = Select page mode
HEX 1B 4C

GSP =  Set horizontal and vertical motion units
GSPxy

x = 0

y = 203 (=CBH) /I For 203 Dpi
HEX 1D 50 00 CB

Set print area in page mode

ESC W xLL xH yL yH dxLL dxH dyL dyH

xL =
xH =
yL =
yH =

ESCW

o O O O

RERE

52mm / 0.125 mm/dots = 416 dots = 256*1 + 160
=256*dxH + dxL

dxL = 160 (=AOH)

dxH =1



RIERE
75mm /0.125 mm/dots = 600 dots = 256*2 +88
= 256*dyH + dyL

dyL =  88(=58H)
dyH= 2
HEX 1B 57 00 00 00 00 A0 01 58 02

ESCT = Select print direction in page mode
ESCTn
n=0
HEX 1B 54 00

R EEE AT S
FF =  Print and return to standard mode (in page mode)
HEX 0C

B. FlE] LOGO %

FUENTRFINENRIEAY Logo [E[FE, RIHIERYIEERE
{E 5 B2 8A0 ~ (FIENE 32 32 4H)

GS (L =  Print the specified NV graphics data <Function 69>

GS(LpLpHmfnkcl ke2xy

pL = 6

pH = 0

m = 48

m = 49

kel = 32

ke2 = 32

x = 1

y = 1

HEX 1D 28 4C 06 00 30 45 20 20 01 01



C. FZEHIFEIR/N

BTN 2 TR AU - PR E SR
[EFHfECHSEAT

GS b = Turn smoothing mode on/off (RJ R KRR/ D IEEETRER)
GSbn
n = 1
HEX 1D 62 01
GS B =  Turn white/black reverse print mode on/off
GSBn
n = 0
HEX1D 42 0
GS !'=  Select character size
GS!n
n = 0 SRR
n = 17 (l11H) GEfsE
HEX 1D 21 00 TAE RN
HEX  1D2111 Rl
D. BARCODE

BB ERISEEA Code 39, RER 1915
[EFHfECHSEAT

GSH =

GSh =

Select print position of HRI characters

GSHn

n = 0 FRHIEA

n = 2 HEYETH

HEX 1D 48 00

HEX 1D 48 02

Set bar code height

GShn

WHRZBSEEE lem Al n=10/0.125=280
WHRZFEHIEE 0.8cm n = 8/0.125=64
HEX 1D 68 40



GSw =

GSk =

E. QRCODE

Set bar code width

GSwn

Rk 58mm &4KENGHIED 19 #5, # n REE =1 A KEFIE]
n = 1

HEX 1D 77 01

Print bar code
GSkmndl..dn

69 (=45H)

n 19 (=13H)

HEX 1D 6B 4513d1 -+ dn

m

ETFREHE QRCode A/NEREH 1.6cm

RAREIRENT QRCode F-EREERZLEE M 135 {E Byte, AREEEAELIZEH
Foofm b, PLESRETER] 2 QRCode AK/NFII—E, FEHRFRENGE
WVEHRE Ry 2 BYTE

EHfFC28aT

GS (k <Function 165> QR Code: Select the model
GS (kpL pHcn fn nl n2

pL =
pH =
cno=
fm =
nl =
n2 =

4
0
49
65
50 (£ Mode 2)
0

HEX1D 28 6B 04 00 31 41 32 00

GS (k <Function 167> QR Code: Set the size of module

GS(kpLpHcenfnn

pL = 3

pH = 0

cn = 49

tm = 67

n o= 3CEH

HEX 1D 28 6B 03 00 31 43 03



GS (k <Function 169> QR Code: Select the error correction level

GS(kpLpHcenfnn

pL 3

pH 0

cn 49

fn 69

n 49(E5#)

HEX 1D 28 6B 03 00 31 45 31

GS (k <Function 180> QR Code: Store the data in the symbol storage area
GS (kpLpHcenfnmdl...dk

pL
pH
cn
fn
m

example:
HEX

(FEEE+3) mod 256
(FHRRE+3)/256)
49

80

48

1D 28 6B 83 00 31 50 30 41 42 31 31 32 3233 33 34 34 31 30 32 30 39 32 36 39
393939 30 30 30 30 30 31 34 35 30 30 30 30 30 31 35 34 30 39 38 37 36 35 34
33 313233343536 37387964 58 SA 74 34 4C 41 4E 31 55 48 4E 2F 6A 31
0A 7556 63 52 41 3D 3D 3A 2A 2A 2A 2A 2A 2A 2A 2A 2A 2A 3A 34 3A 34
3A 31 3A BO AE B9 71 A6 CO 3A 31 3A 31 30 35 3A A4 66 B8 6E 3A 31 3A 32
31303A A4FB A5 A43A 31 3A 3235

GS (k <Function 181> QR Code: Print the symbol data in the symbol storage area

GS(kpLpHcnfnm
pL 3

pH 0

cn 49

fn &1

n 48

HEX1D 28 6B 03 00 31 51 30



F. TArL

1T PAGE MODE {307 /[Elf&/Barcode/QRCode 1F E H NI B EAFES

GS $§ =

ESC$ =

G. tI&kfE<

GSV =

H. GHE SR

Set absolute vertical print position in page mode (‘Efir Y Hi)
GS $nL. Nh

W E LS EBEEEEI I BEAE S 6cm HI]
60mm/0.125mm = 480 = 256 *1 + 224

= 256*nH+nL
nH=1
nl =224
Set absolute print position (AL X #ih)
ESC $ nL. nH

AR E RS ENA BB lem Al
10mm/0.125mm = 80 = 256*0 + 80

= 256*nH+nL
nH
nL

Il
o O
o

Select cut mode and cut paper
GSVmn

m = 65

n = 0

HEX1D 56 41 00

B S &

(L

DLE DC4 (fn=1) = Generate pulse in real-time
DLEDC4nmt

n
m
t

HEX

= 1
= 0
= 1(ER)

10 14 01 00 01



L

FUENATE

P NN

WHE#E L8R, ERFRE (2% H B
REETREEREEHEREE (2% A &)

FIEN LOGO (&% B )

ERIFEIRN (2% C )

%5EI BARCODE (2% D IE)

51EI QRCODE (fEHEfir#E< + QRCODE) (&% EF TH)
B EEZRZEHSIEES (8% A H FF)

T4k (2% G )



